
oGba 4 ba 

G-4)ob 
ab 

ia.8 b68b 

96 4.b 
: (G -4.b 

9b 

i3.5 abe 6.5aba 

Lo.5cb 5abe 
Lo. 5-3.5) abe 

Labe 

Om 

nm 3 mn 

m = 

2 

11 nm 



Date 

1)20 b 45ah+ aa2b Bab2 

ab2 +20b Sab2 Bo 

i 4a 2h-2a-b 

4a-2a 3b-b 

Cit5-G + C 4+3) qz-
C7-axy 

vab + 15ab-llab- 2ab 

+16 -- ab 
CLG 12) ab 

Ga-32 a4 5b2-4a° 

Caa t 2a3-4a2 + 5ba 2b2 
C42-4)a+ (5-a) b 
4 +2b2 



0ata. 

VY 8abc +2ab- 4ab àb 

abc 4abc+2abtab 
C-4) abe (atab 
4abc + 3ab 

v) z +1S4T2- 1044-22P 

(a+5-10-)KY2-
= (4-Lo-2)y 2 

12y2 
pa p +4- GpaT m 

3-G+5) par +2p+*9 

4 ab 0-ba 

4ab 2ba t0. 

:C4-)ab 
20 

yau-2my 5x"q-3y 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

